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> with(LinearAigebra}:
with{ plots)

(1) Find e hest qrednabe foh, came Al flazor e ol

l ! o (> T = Marrix(3,4, {1, 1,1, 1,-1,0, 1,2, ,0, 1, 4]) :
_ ¢ = Transpose{CT)y
it +c,lo | v &y ? - i ’ Pobd

t % & v {1 00
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> ys = Vecror({0, {., 1, 01} : #made one a decimal, to get dec. rather than,
{CT.C}('U.CT.}’S, # least squares solution! ) '
L |

0.500600000000000060
~0.560000000000600000

> q:=:-»1+.5-z—75-52:

> plot]l = plot(g(t), t=-2..3,y=-1.2, color= black}
plot2 = pointplot({{-1,0], [0, 1, [1, 1], [2,0]}) :
display({ plotl, plot2}, title = ‘best quadratic fit");
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